ISSN: 2347-1557

Available Online: http://ijmaa.in

Random Normed Stability of General Quartic Functional Equation

Shalini Tomar^{1,*}, Deepali Khurana²

Abstract

The goal of this paper is to study the Generalized Hyers-Ulam-Rassias (HUR) stability of quartic functional equation (Q.F.E.)

$$f_q(kr_1 + (k-1)r_2) + f_q(kr_1 - (k-1)r_2) = 2k^4 f_q(r_1) + 2(k-1)^4 f_q(r_2)$$

+ $6k^2(k-1)^2 [f_q(r_1 + r_2) + f_q(r_1 - r_2)] - 12k^2(k-1)^2 [f_q(r_1) + f_q(r_2)]$

in Random Normed Spaces (RN-Spaces) using direct method.

Keywords: Generalised Hyers-Ulam-Rassias (HUR) Stability; Random Normed Spaces; Quartic Functional Equation.

1. Introduction

To begin, let us recall the chronicle in the stability theory for functional equations (FEs). The stability problem for the FEs about the stability of group homomorphisms was started by Ulam [15]. The Ulam's question was to an extent solved by Hyers [3]. Subsequently, Hyers' result was extended by several mathematicians like Aoki [1], Th. M. Rassias [12], Găvruta [2] and more. The Q.F.E. was first introduced by Rassias [11], who addressed its Ulam stability problem. Later, Lee [6] remodified Rassias' Q.F.E. and obtained its general solution. Numerous mathematicians have extensively studied the stability problems of various Q.F.E.s in a variety of spaces, including random normed spaces, intuitionistic fuzzy normed spaces, non-Archimedean fuzzy normed spaces, Modular spaces, Banach spaces, orthogonal spaces and many other (see [4,5,9,10,13]).

2. Preliminaries

In [14], A. N. Sherstnev instituted random normed spaces, which can be considered as a generalisation of probabilistic metric space instituted by K. Menger [7,8].

 $^{^{}m 1}$ Department of Mathematics, Kanya Mahavidyalaya Kharkhoda, Sonipat, Haryana, India

²Department of Mathematics, Hans Raj Mahila Maha Vidyalaya, Jalandhar, Punjab, India

^{*}Corresponding author (s_saroha30@yahoo.com)

Definition 2.1 (Random Normed Space [14]). A Random Normed Space (RN-space) is a triplet (N_r, ζ, \top) , where N_r is a vector space, \top is a continuous t-norm and $\zeta: N_r \to D^+$ is a mapping such that the following conditions hold:

RN1: $\zeta_x(t) = \epsilon_0(t)$ for all t > 0 if and only if x = 0,

RN2: $\zeta_{dx}(t) = \zeta_x(t/|d|)$ for all $d \in R$, $d \neq 0$, $x \in N_r$ and t > 0,

RN3: $\zeta_{x+y}(t+s) \ge \top(\zeta_x(t),\zeta_y(s))$, $\forall x,y \in N_r$ and $t,s \ge 0$, where ζ_x denotes the value of ζ at a point $x \in N_r$.

Example 2.2.

• We can label $(\chi, \varrho, \mathfrak{T}_M)$ as a RN-space, for every normed space $(\chi, ||.||), \forall t > 0$, where

$$\varrho_y(\kappa) = \frac{\kappa}{\kappa + ||y||}.$$

This space is labeled as the induced RN-space.

• A countable normed space is also an example of RN-space.

Theorem 2.3 ([14]). Let (N_r, ζ, \top) be an RN-space.

- (1). A sequence $\{x_n\}$ in N_r is labeled to be convergent to $x \in N_r$ if $\forall \epsilon > 0$ and $\zeta > 0$, there exists $N \in \mathbb{Z}^+$ in a manner that $\zeta_{x_n-x}(\epsilon) > 1 \zeta$ whenever $n \geq N$.
- (2). A sequence $\{x_n\}$ in N_r is labeled as a Cauchy sequence in N_r if $\forall \epsilon > 0$ and $\zeta > 0$, $\exists N \in \mathbb{Z}^+$ in a manner that $\zeta_{x_n x_m}(\epsilon) > 1 \zeta$, whenever $n \geq m \geq N$.
- (3). The RN-space (N_r, ζ, \top) is labeled to be complete if every Cauchy sequence in N_r is convergent.
- (4). If (N_r, ζ, \top) is RN-space and $\{x_n\}$ is a sequence in a manner that $x_n \to x$, then $\lim_{n \to \infty} \zeta_{x_n}(t) = \zeta_x(t)$.
- (5). Let (N_r, μ, \top_M) be an RN-space and define $A_{\lambda,\mu}: X \to \mathbb{R}^+ \cup \{0\}$ as $A_{\lambda,\mu}(x) = \inf\{t > 0; \mu_x(t) > 1 \lambda\}$, for all $\lambda \in (0,1)$ and $x \in N_r$. Then $A_{\lambda,\mu}(x_1 x_n) \le A_{\lambda,\mu}(x_1 x_2) + \dots + A_{\lambda,\mu}(x_{n-1} x_n)$, for all $x_1, x_2, \dots, x_n \in N_r$ and the sequence $\{x_n\}$ is convergent to x w.r.t. random norm μ iff $A_{\lambda,\mu}(x_n x) \to 0$ as $n \to \infty$.

3. RN Stability of Q.F.E.

In present segment, we will study the following Q.F.E.

$$f_q(kr_1 + (k-1)r_2) + f_q(kr_1 - (k-1)r_2) = 2k^4 f_q(r_1) + 2(k-1)^4 f_q(r_2)$$

$$+ 6k^2(k-1)^2 [f_q(r_1 + r_2) + f_q(r_1 - r_2)] - 12k^2(k-1)^2 [f_q(r_1) + f_q(r_2)]$$
(1)

in RN-Spaces using direct method. It is easy to see that for any real constant t, $f_q(r_1) = tr_1^4$ is solution of (1), thus it is natural to label it as a Q.F.E. Throuhout the section, we label \mathcal{V} as a real linear space and define a difference operator \hat{D}_{qf} as follows:

$$\hat{D}f_q(r_1, r_2) = f_q(kr_1 + (k-1)r_2) + f_q(kr_1 - (k-1)r_2) - 2k^4 f_q(r_1) - 2(k-1)^4 f_q(r_2) - 6k^2(k-1)^2 [f_q(r_1 + r_2) + f_q(r_1 - r_2)] + 12k^2(k-1)^2 [f_q(r_1) + f_q(r_2)]$$

for all $r_1, r_2 \in \mathcal{V}$.

Theorem 3.1. Let (N_r, ζ, \top) be a complete RN-space and $f_q : \mathcal{V} \to N_r$ be a mapping which maps zero to zero. Further, let $\Phi : \mathcal{V}^2 \to D^+$ be a mapping such that

$$\zeta_{\hat{D}_{\sigma t}(r_1, r_2)}(t) \ge \Phi_{r_1, r_2}(t).$$
 (2)

 $\forall r_1, r_2 \in \mathcal{V}$ and all t > 0, where $\Phi(r_1, r_2)$ is denoted by Φ_{r_1, r_2} . If

$$\lim_{n \to \infty} T_{m=1}^{\infty} \left(\Phi_{k^{(m+n-1)} r_1, 0} (2k^{(3m+4n)} t) \right) = 1 \tag{3}$$

$$\lim_{n \to \infty} \Phi_{k^n r_1, k^n r_2}(k^{4n} t) = 1, \tag{4}$$

 $\forall r_1, r_2 \in \mathcal{V}$ and all t > 0, then $Q_{f_q}(r_1) = \lim_{n \to \infty} \frac{f_q(k^n r_1)}{4n}$ exists $\forall r_1 \in \mathcal{V}$ and defines a unique quartic mapping $Q_{f_q}: \mathcal{V} \to N_r$ such that

$$\zeta_{Q_{f_q}(r_1)-f_q(r_1)}(t) \ge \top_{m=1}^{\infty} \Big(\Phi_{k^{(m-1)}r_1,0}(2k^{3m}t)\Big)\Big),$$
 (5)

 $\forall r_1, r_2 \in \mathcal{V} \text{ and all } t > 0.$

Proof. Existence: Assuming $r_2 = 0$ in (2) we get, $\zeta_{2f_q(kr_1)-2k^4f_q(r_1)}(t) \ge \Phi_{r_1,0}(t)$, for all $r_1 \in \mathcal{V}$ and all t > 0. Or we can say,

$$\zeta_{\frac{1}{k^4}f_q(kr_1)-f_q(r_1)}(t) \ge \Phi_{r_1,0}(2k^4t),$$
 (6)

for all $r_1 \in \mathcal{V}$ and all t > 0. After replacing r_1 by $k^n r_1$ in (6) we get,

$$\zeta_{\frac{1}{k^{4(n+1)}}f_q(k^{(n+1)}r_1)-\frac{1}{k^{4n}}f_q(k^nr_1)}(t) \ge \Phi_{k^nr_1,0}(2k^{4(n+1)}t),$$

for all $r_1 \in \mathcal{V}$ and all t > 0. That is

$$\zeta_{\frac{1}{k^{4(n+1)}}f_q(k^{(n+1)}r_1) - \frac{1}{k^{4n}}f_q(k^nr_1)} \left(\frac{t}{k^{(n+1)}}\right) \ge \Phi_{k^nr_1,0}(2k^{3(n+1)}t),\tag{7}$$

for all $r_1 \in \mathcal{V}$ and all t > 0. Since,

$$\frac{1}{k^{4n}}f_q(k^n r_1) - f_q(r_1) = \sum_{m=0}^{n-1} \left(\frac{1}{k^{4(m+1)}} f_q(k^{(m+1)} r_1) - \frac{1}{k^{4m}} f_q(k^m r_1) \right)$$
(8)

and $1 > \frac{1}{k} + \frac{1}{k^2} + \frac{1}{k^3} + \frac{1}{k^4} + \dots + \frac{1}{k^n}$, thus we attain,

$$\zeta_{\frac{1}{k^{4n}}f_{q}(k^{n}r_{1})-f_{q}(r_{1})}(t) \geq \top_{m=0}^{n-1} \left(\zeta_{\frac{1}{k^{4(m+1)}}f_{q}(k^{(m+1)}r_{1})-\frac{1}{k^{4m}}f_{q}(k^{m}r_{1})}\left(\frac{t}{k^{(n+1)}}\right)\right) \\
\geq \top_{m=0}^{n-1} \left(\Phi_{k^{m}r_{1},0}(2k^{3(m+1)}t)\right) \\
= \top_{m=1}^{n} \left(\Phi_{k^{(m-1)}r_{1},0}(2k^{3m}t)\right) \tag{9}$$

 $\forall n \in \mathbb{N}$ and all t > 0. By putting $k^p r_1$ in place of r_1 in (9), we acquire

$$\zeta_{\frac{1}{t^{4(n+p)}}f_q(k^{(n+p)}r_1) - \frac{1}{t^{4p}}f_q(k^pr_1)}(t) \ge \top_{m=1}^n (\Phi_{k^{(m+p-1)}r_1,0}(2k^{(3m+4p)}t)). \tag{10}$$

Since the right hand side of (10) tends to 1 as n and p tends to ∞ , therefore, sequence $\left\{\frac{1}{k^{4n}}f_q(k^nr_1)\right\}$ is Cauchy in (N_r, ζ, \top) , which converges due to completeness of (N_r, ζ, \top) , so \exists some $Q_{f_q}(r_1) \in N_r$ such that

$$\lim_{n \to \infty} \frac{1}{k^{4n}} f_q(k^n r_1) = Q_{f_q}(r_1),$$

 $\forall r_1 \in \mathcal{V}$. Taking $k^n r_1$ in place of r_1 and $k^n r_2$ in place of r_2 in (2), we get

$$\zeta_{\frac{\hat{D}_{qf}(k^n r_1, k^n r_2)(t)}{4n}} \ge \Phi_{k^n r_1, k^n r_2}(k^{4n} t), \tag{11}$$

for all $r_1, r_2 \in \mathcal{V}$ and all t > 0. Thus with $n \to \infty$ in (11), we find that Q_{f_q} satisfies (11), $\forall r_1, r_2 \in \mathcal{V}$. Thus, Q_{f_q} is a quartic mapping. By taking limit $n \to \infty$ in (9), we get (5).

Uniqueness: Suppose that $Q_{f_q}^{'}: \mathcal{V} \to N_r$ is another mapping which follows (5). In view of the fact that f_q is a quartic mapping thus, $Q_{f_q}^{'}$ and Q_{f_q} are also quartic. Therefore $\forall n \in \mathbb{N}$ and every $r_1 \in \mathcal{V}$,

$$Q'_{f_a}(k^n r_1) = k^{4n} Q'_{f_a}(r_1)$$
 and $Q_{f_a}(k^n r_1) = k^{4n} Q_{f_a}(r_1)$.

Thus, we have for all $r_1 \in \mathcal{V}$ and all t > 0,

$$\begin{split} \zeta_{Q'_{fq}(r_{1})-Q_{fq}(r_{1})}(2t) &= \zeta_{\frac{Q'_{fq}(k^{n}r_{1})}{k^{4n}} - \frac{Q_{fq}(k^{n}r_{1})}{k^{4n}}}(2t) = \zeta_{Q'_{fq}(k^{n}r_{1})-Q_{fq}(k^{n}r_{1})}(2k^{4n}t) \\ &\geq \top (\zeta_{Q'_{fq}(k^{n}r_{1})-f_{q}(k^{n}r_{1})}(k^{4n}t), \zeta_{f_{q}(k^{n}r_{1})-Q_{fq}(k^{n}r_{1})}(k^{4n}t)) \\ &\geq \top \Big(\top_{m=1}^{\infty} \Big(\Phi_{k^{m+n-1}r_{1},0}(2k^{3m+4n}t)\Big), \top_{m=1}^{\infty} \Big(\Phi_{k^{m+n-1}r_{1},0}(2k^{3m+4n}t)\Big)\Big). \end{split}$$

By taking $n \to \infty$, we get $Q'_{f_q}(r_1) = Q_{f_q}(r_1)$ for all $r_1 \in \mathcal{V}$. Hence, the result is ratified.

Theorem 3.2. Let (N, Φ, \top_M) be an RN-space and $\phi : \mathcal{V}^2 \to N$ be a function such that for $0 < \mu < k^4$, we have

$$\Phi_{\phi(kr_1,0)}(t) \ge \Phi_{\mu\phi(r_1,0)}(t) \tag{12}$$

and
$$\lim_{n \to \infty} \Phi_{\phi(k^n r_1, k^n r_2)}(k^{4n} t) = 1,$$
 (13)

 $\forall r_1, r_2 \in \mathcal{V}$ and all t > 0, where $\top_M(r_1, r_2) = min(r_1, r_2)$. Further, assume (N_r, ζ, \top_M) as complete RN-space with $f_q : \mathcal{V} \to N_r$ such that,

$$\zeta_{\hat{D}f_a(r_1,r_2)}(t) \ge \Phi_{\phi(r_1,r_2)}(t)$$
(14)

 $\forall r_1, r_2 \in \mathcal{V} \text{ and } t > 0 \text{ with } f_q(0) = 0. \text{ Then the limit,}$

$$Q_{f_q}(r_1) = lim_{n \to \infty} \frac{f_q(k^n r_1)}{k^{4n}}$$

exists for all $r_1 \in \mathcal{V}$ and defines a unique quartic mapping $Q_{f_q}: \mathcal{V} \to N_r$ such that

$$\zeta_{Q_{f_q}(r_1)-f_q(r_1)}(t) \ge \Phi_{\phi(r_1,0)}(2(k^4-\mu)t),$$
 (15)

 $\forall r_1, r_2 \in \mathcal{V}$.

Corollary 3.3. Let (N, Φ, \top_M) and (N_r, ζ, \top_M) be RN-space and complete RN-space respectively. Also, let $p \in (0,1)$, $z_0 \in N$ with $f_q : V \to N_r$ be a mapping satisfying

$$\zeta_{\hat{D}_f(r_1,r_2)}(t) \geq \begin{cases}
\Phi_{(||r_1||^p+||r_2||^p)z_0}(t), \\
\Phi_{\delta z_0}(t)
\end{cases}$$
(16)

and $f_q(0)=0$, for each $r_1,r_2\in\mathcal{V}$ and all t>0. Then, there exists a unique $Q_{f_q}:\mathcal{V}\to N_r$ such that

$$\zeta_{Q_{f_q}(r_1)-f_q(r_1)}(t) \geq \begin{cases} \Phi_{||r_1||^{p_{z_0}}}(2(k^4-k^{4p})t) \\ \Phi_{\delta z_0}(2(k^4-1)t), \end{cases}$$
(17)

for all $r_1 \in \mathcal{V}$ and all t > 0, which is quartic in nature.

Proof. Let $\phi: \mathcal{V}^2 \to N$ as $\phi(r_1, r_2) = \begin{cases} (||r_1||^p + ||r_2||^p)z_0, \\ \delta z_0. \end{cases}$. Then, proof follows from Theorem 3.2

by plugging
$$\mu = \begin{cases} k^{4p} \\ 1 \end{cases}$$
.

Theorem 3.4. Let (N_r, ζ, \top) be a complete RN-space and $f_q : \mathcal{V} \to N_r$ be a function obeying the equation (2)

along with $f_q(0) = 0 \ \forall \ r_1, r_2 \in \mathcal{V}$ and all t > 0. If

$$\lim_{n \to \infty} T_{m=0}^{\infty} \left(\zeta_{\frac{r_1}{k^{m+n+1}}, 0} \left(\frac{t}{k^{4(m+n)}} \right) \right) = 1$$

$$\tag{18}$$

$$\lim_{n \to \infty} \zeta_{\frac{r_1}{k^n}, \frac{r_2}{k^n}} \left(\frac{t}{k^{4n}} \right) = 1, \tag{19}$$

 $\forall r_1, r_2 \in \mathcal{V}$ and all t > 0, then $D_{f_q}(r_1) = \lim_{n \to \infty} k^{4n} f_q\left(\frac{r_1}{k^n}\right)$ exists for all $r_1 \in \mathcal{V}$ and defines a unique quartic mapping $D_{f_q}: \mathcal{V} \to N_r$ which obeys

$$\zeta_{D_{fq}(r_1)-f_q(r_1)}(t) \ge T_{m=0}^{\infty} \left(\zeta_{\frac{r_1}{\nu m+1},0}\left(\frac{t}{k^{4m}}\right)\right).$$
(20)

 $\forall r_1, r_2 \in \mathcal{V} \text{ and all } t > 0.$

Proof. **Existence:** Setting $r_2 = 0$ in (2), we claim

$$\zeta_{2f_q(kr_1)-2k^4f_q(r_1)}(t) \ge \zeta_{r_1,0}(t),\tag{21}$$

 $\forall r_1 \in \mathcal{V} \text{ and all } t > 0.$ Replacing r_1 by $\frac{r_1}{k^{(n+1)}}$, we get

$$\zeta_{k^{4n}f_q\left(\frac{r_1}{k^n}\right) - k^{4n+4}f_q\left(\frac{r_1}{k^{n+1}}\right)}(t) \geq \zeta_{\frac{r_1}{k^{(n+1)}},0}\left(\frac{t}{2k^{4n}}\right) \tag{22}$$

 $\forall r_1 \in \mathcal{V}$ and all t > 0. Since,

$$k^{4n} f_q\left(\frac{r_1}{k^n}\right) - f_q(r_1) = \sum_{m=0}^{n-1} \left(k^{4m+4} f_q\left(\frac{r_1}{k^{m+1}}\right) - k^{4m} f_q\left(\frac{r_1}{k^m}\right)\right),\tag{23}$$

and $k^n > k^{(n-1)} + k^{(n-2)} + ... + 1$, thus we claim

$$\zeta_{k^{4n}f_{q}\left(\frac{r_{1}}{k^{n}}\right)-f_{q}(r_{1})}(2k^{4m}t) \geq \top_{m=0}^{n-1}\left(\zeta_{k^{4m+4}f_{q}\left(\frac{r_{1}}{k^{m+1}}\right)-k^{4m}f_{q}\left(\frac{r_{1}}{k^{m}}\right)}(2k^{4m}t)\right) \\
\geq \top_{m=0}^{n-1}\left(\zeta_{\frac{r_{1}}{k^{m+1}},0}(t)\right).$$
(24)

Hence,

$$\zeta_{k^{4n}f_q\left(\frac{r_1}{k^n}\right) - f_q(r_1)}(t) \ge \top_{m=0}^{n-1} \left(\zeta_{\frac{r_1}{k^{m+1}}, 0}\left(\frac{t}{2k^{4m}}\right)\right). \tag{25}$$

Substituting r_1 by $\frac{r_1}{k^p}$ in (25), we attain

$$\zeta_{k^{4(n+p)}f_q\left(\frac{r_1}{k^{n+p}}\right)-k^{4p}f_q\left(\frac{r_1}{k^p}\right)}(t) \ge \top_{m=0}^{n-1}\left(\zeta_{\frac{r_1}{k^{m+p+1}},0}\left(\frac{t}{2k^{4(m+p)}}\right)\right). \tag{26}$$

Since right hand side of (26) tends to 1 as n and p tends to ∞ , thus we get, sequence $\left\{k^{4n}f_q\left(\frac{r_1}{k^n}\right)\right\}$ as a

Cauchy, so there exists some point $Q_{f_q}(r_1) \in N_r$ such that

$$\lim_{n\to\infty}\left\{k^{4n}f_q\left(\frac{r_1}{k^n}\right)\right\}=Q_{f_q}(r_1),$$

for all $r_1 \in \mathcal{V}$. By replacing r_1 by $\frac{r_1}{k^n}$ and r_2 by $\frac{r_2}{k^n}$ in (2), we get

$$\zeta_{k^{4n}\hat{D}_{f}\left(\frac{r_{1}}{k^{n}},\frac{r_{2}}{k^{n}}\right)}(t) \geq \zeta_{\frac{r_{1}}{k^{n}},\frac{r_{2}}{k^{n}}}\left(\frac{t}{k^{4n}}\right),\tag{27}$$

 $\forall r_1, r_2 \in \mathcal{V}, t > 0$. Thus, by taking $n \to \infty$ in (27) and using (19), we have,

$$Q_{f_q}(kr_1 + (k-1)r_2) + Q_{f_q}(kr_1 - (k-1)r_2) = 2k^4 Q_{f_q}(r_1) + 2(k-1)^4 Q_{f_q}(r_2)$$

$$+ 6k^2(k-1)^2 [Q_{f_q}(r_1 + r_2) + Q_{f_q}(r_1 - r_2)] - 12k^2(k-1)^2 [Q_{f_q}(r_1) + Q_{f_q}(r_2)]$$

The justification of uniqueness of $Q_{f_q}(r_1)$ can be easily generated from proof of Theorem 3.1. \Box

Theorem 3.5. Let (N, Φ, \top_M) be an RN-space and $\phi : \mathcal{V}^2 \to N$ be a function such that, for some, we have $0 < \mu < \frac{1}{k^4}$

$$\Phi_{\phi(\frac{r_1}{t},0)}(t) \ge \Phi_{\mu\phi(r_1,0)}(t) \tag{28}$$

$$\lim_{n \to \infty} \Phi_{\phi(\frac{r_1}{k^n}, \frac{r_2}{k^n})} \left(\frac{t}{k^{4n}}\right) = 1,\tag{29}$$

for all $r_1, r_2 \in \mathcal{V}$, t > 0. Further assume, (N_r, ζ, \top_M) is some complete RN-space and $f_q : \mathcal{V} \to N_r$ is a mapping satisfying (14) along with $f_q(0) = 0$, $\forall r_1, r_2 \in \mathcal{V}$ and all t > 0. Then, the limit

$$Q_{f_q}(r_1) = \lim_{n \to \infty} k^{4n} f_q\left(\frac{r_1}{k^n}\right)$$

exists and defines a unique quartic mapping $C_{f_q}: \mathcal{V} \to N_r$ in a manner that

$$\zeta_{Q_{f_q}(r_1) - f_q(r_1)}(t) \ge \Phi_{\phi(r_1,0)}\left(\frac{(1 - \mu k^4)}{2\mu}t\right). \tag{30}$$

Corollary 3.6. Let p > 1 and $z_0 \in N$ and if $f_q : V \to N_r$ is mapping satisfying (16) along with $f_q(0) = 0$. Thus, we get a unique quartic mapping $Q_{f_q} : V \to N_r$ such that

$$\zeta_{Q_{f_q}(r_1)-f_q(r_1)}(t) \geq \begin{cases}
\Phi_{||r_1||^p z_0}((k^{4p}-k^4)/2t), \\
\Phi_{\delta z_0}(k^4(k-1)/2t),
\end{cases}$$
(31)

where, $Q_{f_q}(r_1) = \lim_{n \to \infty} k^{4n} f_q\left(\frac{r_1}{k^n}\right)$, $\forall r_1 \in \mathcal{V}$ and all t > 0.

Proof. Let $\phi: \mathcal{V}^2 \to N$ be defined as

$$\phi(r_1,r_2) = \begin{cases} & (||r_1||^p + ||r_2||^p)z_0, \\ & \delta z_0, \end{cases}$$

and to get the result take
$$\mu = \left\{ \begin{array}{l} k^{-4p}, \\ k^{-4} \end{array} \right.$$
 , in Theorem 3.5.

References

- [1] T. Aoki, On the stability of the linear transformation in Banach spaces, Journal of the Mathematical Society of Japan, 2(1-2)(1950), 64-66.
- [2] P. Gavruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, Journal of Mathematical Analysis and Applications, 184(3)(1994), 431-436.
- [3] D. H. Hyers, On the stability of the linear functional equation, Proceedings of the National Academy of Sciences, 27(4)(1941), 222-224.
- [4] M. Khanehgir, Stability of the Jensen's functional equation in multi-fuzzy normed spaces, Iranian Journal of Fuzzy Systems, 14(3)(2017), 105-119.
- [5] H. Khodaei, M. E. Gordji, S. Kim and Y. Cho, Approximation of radical functional equations related to quadratic and quartic mappings, Journal of Mathematical Analysis and Applications, 395(1)(2012), 284-297.
- [6] S. H. Lee, S. M. Im and I. S. Hwang, *Quartic functional equations*, Journal of Mathematical Analysis and Applications, 307(2005), 387-394.
- [7] K. Menger, Statistical metrics, Proc. Nat. Acad. Sci, U.S.A., 28(12)(1942), 535-537.
- [8] K. Menger, Probabilistic geometry, Proc. Nat. Acad. Sci, U.S.A., 37(4)(1951), 226.
- [9] A. N. Motlagh, *The generalized Hyers-Ulam stability of derivations in non-Archimedean Banach algebras*, Mathematical Analysis and its Contemporary Applications, 2(2020), 17-22.
- [10] M. Nazarianpoor, J. M. Rassias and G. Sadeghi, *Solution and stability of quattuorvigintic functional equation in intuitionistic fuzzy normed spaces*, Iranian Journal of Fuzzy Systems, 15(2018), 13-30.
- [11] J. M. Rassias, Solution of the Ulam stability problem for quartic mappings, Glasnik Matematički, 34(54)(1999), 243-252.
- [12] T. M. Rassias, On the stability of the linear mapping in Banach spaces, Proceedings of the American mathematical society, 72(2)(1978), 297-300.

- [13] T. M. Rassias and H. A. Kenary, *Non-Archimedean Hyers-Ulam-Rassias approximation of the partitioned functional equations*, Applied and Computational Mathematics, 12(1)(2013), 76-90.
- [14] A. N. Sherstnev, On the notion of random normed space, Dokl. Akad. Nauk SSSR, 149(1963), 280-283.
- [15] S. M. Ulam, *Problems in Modern Mathematics*, Science Editions, John Wiley and Sons, NY, USA, (1964).